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College Algebra — Joysheet 4
MAT 140, Fall 2021 — D. Ivansié Covers: 1.5, 1.6 Show all your work!

Solve the inequalities. Write your solution in interval notation.
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4. (14pts) Mall masseurs Guido and Jaco offer their services at these costs: Guido charges
80 cents per minute, and Jaco charges $14 for the first fifteen minutes and then 75 cents
per minute for the minutes after fifteen. Assuming you want to get at least a fifteen minute
massage, for which number of minutes does Jaco have the better deal? Solve as an inequality.
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5. (14pts) Jenny traveled to Louisville at 68 miles per hour. On the way back, she took
the scenic route and drove 56 miles per hour. The way back was 17 miles longer and took
one hour longer to drive than the way to Louisville.

a) How many hours did it take to drive to Louisville?

b) How long is the scenic route from Louisville?
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6. (14pts) Larry, Moe and Curly share the cost of their lunch, for which the bill was $23.20.
Moe pays half of what Larry pays, and Curly pays $5 less than Larry and Moe together.
How much did each of them contribute to the hill?

'Illr- / bt 4 Ir- "{J"i'rrl oy / " o

;' rf-ll.f;d o | MC:(' f?zdﬂr { | o-[‘—‘ E {:D o

,'_Eh.:iﬁ’lfw Tiashs F./} f {J_f; , ,f’_‘;h_g_j-;??‘?
= Jr tea s €l :l{% Fé}l i

3 &
b7~ ~5= 23,2 |
' Y= 151
R L i 2
Levry Py /- 9.9

J]'e’lln,r Pﬁ?f j Kr-l?[}

g 4014705
Curly, pty! '$ L. “j '



